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1 Find the following for the function f(x)=4x2+4x—4. f(({ ?ﬁ/ -f i) - (: Zo;@:;?fﬂ 7 v
(a) f(0) (b) 1(1) () f(-1) (d) f(-x) .{____w T
(e) —f(x) (f) fx+1) (@) f4x) (h) f(x +h) /41) . ‘(’(I) — () - //
(a) f(0) = (Simplify your answer.) /C /) SO ~+ “ (- v
(b)f(1)=' |(Simplifyyouranswer.) __f({g ___(/ P(’_ S// d
L
© f(=1)= (Simplify your answer.) /( /) = - .") 'f' Qﬁ/; )L/
— g p (-1~
(d) f(-x) = (Simplify your answer.) /{() z‘g /)(;//)’:tf
(e) —f(x)= (Simplify your answer.) ‘4’ () — —.)‘. “~
| i) = =L~
() fx+1)= |(S|mpl|fyyouranswer) 7{/ ) C/()() ,_fq[/ﬂ(); )
b X ——u/
(g) f(4x) = ' | (Simplify your answer.) ;j”_(j /)%/
(h) f(x+h) = (Simplify your answer.) B 9‘)( /
[ i v ) =
A 4 9=~ (o Sty ) YK =T
nswers -
4 f/()(ﬂ)’“ C/’//(f/)t—t-‘f’(}f’ff)“—
L Ke)< § () (6er) —rV/Kr/(/ »
4% -ax-4 (i) = V(}( <t Aepatnf) 7 )({; v
X2 - 4x - -
‘6((("—((()( afz‘/d’)”f¢(x,;/r ¢
- 452 -4x+4(/(«}(”)_, ({/ _,fd’}(f-((./-fcr’ _(_:\ [._/
4% +12x+ 4 Q{K’f{) = 4,)( 1{1 X Y
64x” +16x -4 (449 = ¥yx) Yl )~ = Q{Vx/(c/x) ~+ ¢ (Cx )»—;//
45 + 8hx + 4h% + 4x + 4h -4 €6Y¥xC F7cx —) T
'/;{r»ﬁ) ‘/([f[) it (A rb)—
ID: 1.1.43 f‘U - 4’(%{4)(:(/4) = C/(er;)ff‘/ /
A’_,-':k.-'x..,—&___ J:i(l YijXd"”‘f .(/l"f l"} )“'I’ ?(:( //‘l"_“’/ ______
~7% th@ofthe fuf (. 2h ) £ (e h
4 ) _Jlg# Wh— GhHEF x’-—r 4 -“f/
f(x) = 4/4x - 24 \ AL e e — — =

The domain is . (Type your answer in interval notation.)

TN~ 2 &

Answer: [6,00) (_((,,_ é%f% >/O +Z < /.'d m ) \

ID: 1.1.59
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=3x+8; g(x)=8x-3 I{;I A St/ //..
(St (/x 1) (\hmﬂnw
;)C'//f’//_;_ ‘/‘/ (,V/W ),4 )

(a) Find (f + g)(x).

(F+g)(x) = (Simplify your answe(.)‘}"/’ x'fr" =

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

A, The domain is {x } e o
(Use integers or fractions for any numbers in the expression. Use a comma to separate - AN

- y )

| answers as needed.) ”’q /) P | 2 / 1 Y G+ f

() B. The domain is {x| x is any real number}. (.5;(» ¢ - (/,( 3 ) (—//)() (/)0

(b) Find (f - g)(x). 3+ —EXAE=

f-g)x)= (Simplify your answer.)(-. ’ __ > )(_f (/ - NS

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

) A. The domain is {x } ==
(Use integers or fractions for any numbers in lhe expressmn Use a comma to separate L’ ¥ "\,‘
answers as needed. \ M & ‘

- The domain is {x| x is any real number}. ( ¥

( it ) (zx s) BV

(c) Find (f=g)(x). 2y G4 A GY L —24y < %;fa

‘.\‘

(feQ)(x) = (Simplify your answ&t:e_r.) Z/(( ('L + €% ,.!( 2 ¢ =

What is the domain of f« g? Select the correct choiceﬁelow and, if necessary, fill in the answer box to complete your choice.

2 A. The domain is {xI } -
(Use integers or fractions for any numbers in the expressmn Use a comma to separate— .
answers as needed.) / i ol - /,/ 7[ ;
() B. The domain is {x| x is any real number}. j"/ s 7, (\ ( \_ e 4 (‘<

(Simplify your answer.) ,

2 <

g% —

f -7 J

What is the domain of — g —7? Select the correct choice below and, if necessary, fill in the answer box to compiete your choice.
X~ ///

(> A The domain is {x }
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (/‘F )/ 6/) // Xy
() B. The domain is {x| x is any real numbe? 7/ 3} z [//5} Y

(e) Find (f + g)(3).
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(f+g)3)= (Type an integer or a simpliﬁfd fraction.)
(= V) e =5/
A=W V)= St )T/

(f-g)4)= (Type an integer or a simplified fraction.)

~2v
(9) Find (f« g)(2). )) ( ?/ (

(feg)2=__ (Typeanintegerora s1n§](:h£gd ;g‘u_)g%/ )L 7
/ Y l
( £ 5) {/4 Z¥yx 'l“ /?< /

(f) Find (f- g)(4).

f
(h) Find (—](1). . g,y( 2) - ¥ 9 (7) l g.(
g 1‘ .)/ (2]~ A e ) o
. (7 )~ 29(2)(t) s (2) ~¢y
(5]“)= ’(Type an integer ( mpﬁieél f}actlon) ; é ..'L //‘(; — L/
2 (2) o
Answers 11x +5 ( J (a) /?2/ >
B. The domain is {x[ X is any real number; .
~5x+11 L A AL A
()0~ =
B. The domain is {x| X is any real number}. 5 &8 / J {
/ ; 101)T b
24x° + 55x - 24 ’/ ) ) = 5 .-( '-l*"“j
B. The domain is {x| x is any real number}. (} i r'/(i)/ }
3x+8 Y

:XT_he domain is {xl x# - } ( {) ( 4;:5

(Use integers or fractions for any numbers in the expression. Use a comma to separa _E_‘Wésq‘es needed.)

wm >

ID: 1.1.67

f(x + h) — f(x)
h

Cor,, (X
w=2-sre (4 ‘3667‘42{7‘*@) (X "3 _
St (g T ) =3 (4 ) K =

h

4,
Find the difference quotient of f; that is, find ., h#0, for the following function. Be sure to simplify.

LA o X -
Answer: 2x+h - 3A/Z:‘/’ A//'_./ )([‘_,//) _.3){’__34 __'4_,6 -—)(’ f )7)(”-1 a—

’L .
ID: 1.1.83 ]i ()(Z __L A —-}/*‘34 'f';" X ‘1‘!{# 6 o g&‘)z"(

» &
“ ‘ —
_ax/f Al ~3h  2xh ﬁz; - ~H’:
a h o ‘/\ -
’ Of:ff___ _r/“’_'__‘\._‘_‘___—- e I I —
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5. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether itis even, odd, or neither

(a) What are the intercepts?

I (1)2) ()

(Slmbhfy your answer Type an ordered pair. Use a comma to separate answers as needed.)

. f‘\\ g :
(b) The omam is !—A 25, 58 ! /
(Type youranswer in interval notation.)

Thefangeis [ 7%

(T&pe'\?bur answer inf interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

© A. The graph j§ increasing on 5 2/0,5 ; Z /) )/
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph(s decreasing on C 5 / . C J
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.
A. The graph is constant on
(Type your answer in |nterval notation. Use a comma to separate answers as needed.)

{\"_f’_'_"_B. The graph is not constant on any interval.”

(d) The function is (1)

(1) O odd.
(75 neither odd nor even.
() even.
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Answers (-2,0),(1,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasingon  [-2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on '[- 3, = 2],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25

50f28 8/5/2019, 10:15 AM
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6. The function f is defined as follows.

2+x ifx<0
f(x) =
2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

o - .
(a) The domain’of the function fis /~— 2~ 4..)
(Type your answer in interval notation.) '

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The intercept(s) is/are
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A.

(Type your answer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are | (-2,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

Coedons
%’//"715) =
X— el © [

—( ( | Cea /C-v (Q ‘{éf’

C.
(= c0,00) e 'y
ID: 1.4.37 k) /s o)) M s 44

/
Vol
7 - 04K —& ()(c IJ Gl

\a.._ § 20D Yo/ ‘] (ldéf
9= X (X2 O) cnt

6of28 . = e ————— — o e —— T 852009, 10:TS AM
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7. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) FO) =1f(x) +3 (b) G(x) =f(x +4) () P(x) = —f(x)

1
(d) HO) =f(x +2) - 1 w)Q@)=§ﬂn (M g(x) =f(=x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.

O B.

(b) Choose the correct graph of G(x) = f(x + 4) below.

O A. O B.

(d) Choose the correct .graplg of H_(x) =f(x +2) -1 below.

V.l =8
O A /. \ O e. D.

1
(e) Choose the correct graph of Q(x) = gf(x) below.

7 of 28 8/5/2019, 10:15 AM
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(f) Choose the correct grapp,.uf.g,(;_} = (- x) below.

{/ =

8 of 28 8/5/2019, 10:15 AM



finalm1314COC027sulllljjRZ-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers

ID: 1.5.63
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(a) Graph f(x) = |x . 7| - 3 using transformations.

(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is ~square units.
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay
10+

8-

B

- 5-_1(_)‘-;‘ Y /( Nua yC2 S
9 f,f Lo J(UL,J \"'\_ 7} ) /)/ e J
ID: 1.5.81 | \_7 [ i L’j (}(‘-—_7) S
\
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9. Find thé zeros of the quadratic function b){factoring'. What are the x-intercepts of the graph of the function?

— \__‘ L o " ,{ ) =

Foo=x? +x-2 N 7 ol o

(= =& +=EY —
Select the correct choice below and fill in the answer box to complete your choice.”

(Use a comma to separate answers as needed. Type an integer or a simplified fraction.) -/ = > {;}"'3’ /(ﬁf / = o
N The zeros and the x-intercepts are different. The zeros are , the x»lntercepts ’
OA e ) X—(1/ = ~/ o < Xt2~2 v~
B. The zeros and the x-intercepts are the same. They are /"r ’,> d/L (" /r —— Z- ™y
Answer: B. The zeros and the x-intercepts are the same. They are -21
D¢ 2_.3.17_

10. Find the zeros of the quadratic function by factoring: What are the x-intercepts of the graph of the function?

g(x)=2x -5x-3 Z)( T ) ___,i e (/ X { [ /)(,(’ 5“/ Fi

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
O A 9 — ¥ A - 3
are . 23 / —
() B. The zeros and the x-intercepts are the same. They are P / —~ ( Jo (’14 )( ~ 9 bt
. L/
2 ¢~ | e
1 | )1/ -~ 4 )
Answer: B. The zeros and the x-intercepts are the same. They are - 5,3 .;’ X ( b S

2 S

ID: 2.3.19 (/,( l/g \

.

e — —

11. Find thg zeros 'of the quadratic function using thé- square root method JWhat are the x-mtercepts of the graph of the
function?. - e i g f
(Y- ;) ¥ - - v - /g
2 o ¢
g0 =(x-1)° -4 (X ) - X = T

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) /( / . Ve ) A /( = / -
The zeros and the x-intercepts are different. The zeros are , the x-intercepts ¢ /
A. ) — (¥
are ] /(,_(,_f/:f—é_f/ (JIZ X f"/
B. The zeros and the x-intercepts are the same. They are —— I A . '?
- (¢ /r >
Answer: B. The zeros and the x-intercepts are the same. 'T'hey are 3,-1
ID: 2.3.29

110f28 8/5/2019, 10:15 AM
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of the function?

12. Find the zeros, if any, of tf(é duadratic function using t’ne’ q/uadratic formula,"What are the x-intercepts, if any, of the graph

fx) = 2x + 11+ 10x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

OB are

() €. There is no real zero solution and no x-intercept.

-5+4/3 -5-43

2 ’ 2

Answer: A. The zeros and the x-intercepts are the same. They are

‘((j f)( F/ DX

ID: 2.3.47 | " y
o =X ’fm/(ﬂ—/? (bt =
('( {’/ l'/ < ) C < / (
X-=bte «ac

Y~ HetTe x- "1
- |
X< ~/V "(;’&’_.‘—J )(”‘”5“”3 o=

120f28 . o — —— ] 8/5/2019, 10:15 AM
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13.
Graph the function f(x) = - X2 - 4x by starting with the graph Qolfry
ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting). 16
124
Select all the transformations needed to graph the given J
function using y = X2 8
4-
[1 A. Stretch the graph vertically by a factor of ] X5
-2 20 -6 12 8 4 ] 4 B 12 16 20
[] B. Reflect the graph about the x-axis. -4
[[] c. Shift the graph down 4 units. &
[] D. Shift the graph to the left 2 units. ‘,12“3
['] E. Compress the graph vertically by a
factor of 4. -16
[] F.  Shift the graph to the right 2 units. 204
[] G. Reflect the graph about the y-axis.
] H. Shift the graph up 4 units. et TR
-~ P } L
Use the graphing tool to graph the function. (’/ .j_({,/ s e >( ,L'-*’ "-_—(_/- "( o /

Answers B. Reflect the graph about the x-axis., D. Shift the graph to the left 2 units., H. Shift the gréph up 4 units. _
Ay
20

P

12+
\/1/ L:‘-:. 8_3

I3of28—____ — 8/5/2019, 10:15 AM
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14.
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For the quadratic function f(x) = x2 + 2x - 8, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

The ver‘tex ef the parabolais | [—[ , — 1 /.

(Typean “ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

z -\

The axis of symmetry is
(Type an equation.)
What is/are the x-intercept(s)? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

O A. The x—antercepl(s) is/are i
"e —F . ot ( C//() )

(Type arvinteger or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

ey )4
O A They-interceptis 4 : o
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determlne the domain and the range of the function.

A Le

P

Th dnmam offls (.- )
g 2 e

(Type yclur answer ih tnterval notafion. )

Thelr. ange off is ﬁ !
(Type yUUr answer in interval otaiuon )
(c) Determine where the function is increasing and where it is

decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

15 of 28
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Answers up

(=1,-9)
x=-1

A. The x-intercept(s) is/are -4,2
(Type an integer or a decimal. Use a comma to separate answers as

A. The y-intercept is -8 .(Type an integer or a decimal.)

Ay

,\/"IV)"“/\-‘-{V o '(7} (D
i

20 -16 12 B

16 of 28 8/5/2019, 10:15 AM
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M =G (K-th~ ¢
Determine the quadratic function whose graph isgiven | ‘The quadratlc functlon which describes the given graph is
below. ) 2
iy (/ ((Xﬁ "'(; (Type an expression. ) 7 < / ()(”'C) —
ar & ( Y, 92) / [((£-t)(k~T)

/ .—()(——Z)(’r‘/)"’é
/Y- ( X ]

finalm1314COCO27sulllljjRZ-Alfredo Alva/rt/:z 2
p /l').__..(j L
15.

S ,J""“

'IU‘: —
: | ~ % a (v é) l_ -
; x 110\(6)*‘ 9= ((X o )
BTTE WIS L (- ﬂ(”“ UG [#t—= V=6
' {’;’\7’) _0_'(2,—§) - —7 = a{(‘f)"(’ ‘ -

i
~1)/ ] gl e g —6 .
(6/ ) i 'i_ ’L) ) L - e 6,:'{--; G \j
L W (9, 246 =Y
R , iy G- YA ;’J
nswer: -4y -2 f
X X (_,’ﬂ _ % /

ID: 2.4.49 AT= 4/; 5
> _F_,_.._.-i‘—"‘\

_“__._-——.—-"é__—_—_‘_
16. Determlne without graphing, whether the Wen quadratlc function Wm or a minimum \ Vﬁlu.ejﬂdmw
the value.
[\_Fi—!; "\\ 7/&&_‘__ 5 P> j r:;;;j (_)‘/i*" C](_J I'\/:_"_\."-.

— ——

-

f(x)= —2x° +8x—9 Fe<| = ~(,(( —~ 7 —]

=7 b= g =
Does the quadratic function f have a minimum value or a maximum valueé {7
() The function f has a minimum value. \/ e L ez — 'Zf\'— /h)

(O The function f has a maximum value. / ) X . Fe
Verlee < /. () //(,_’wﬁ

What is this minimum or maximum value? _ Bt
— 26¢¢) y 2(~1)
| . P
(Simplify your answer.) ] L{ ~ = ?)/ F (’f) )
\’/ r A = —< e Sl
Answers The function f has a maximum value. ' )3
-1 Vel = ( 2, 1[ (2

ID: 2.4.59 V/(fl/(y\ ——/Z ,_.Z/(Z) —f /(2},—-1)
! ke =1, Lt A=)
—F (6 )

L*‘w L,&,k S (7 ) |
-/ 2, - 2 %,.—-'”
< Vla =C ‘ L_),f/“

})7Lo< ¥

17 of 28 === 8/5/2019, 10:15 AM
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17. Use the rational zeros theorem to find all the real zeros of the palynomral functlen Use the zeros to factor f over the real

numbers. // ,5 // .L_f._ S i

f(x) = X -x2 - 37x-35 Tk $-4-
Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.
- w2 B
O A x= mp—
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or 1§ /
fractions for any rational numbers in the expression. Use a comma to separate answers as
needed. :
) e by THTE0)
() B. There are no real zeros. = e
P S - -/4/-/ Tﬂb—‘-\ + [
Use the real zeros to factor f. ! ) ¢ g ] a '*-}
f(x) = \ VD
(Slmpllfy your answer. Type your answer in factoredTonn Type an exact answer, usmg radicals as needed. Use integers —
or fractions for any rational numbers in the expression.) T 25 ~ f -+ ¢ A~ |

= J i /
Answers A. x=| =5, =1,7 |
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the egpression Use a comma to separate answers as- needed.) S
+1)(x+5)(x~7 ( 7 - f‘ ) o T 7 Ty 1 N\
(x+1)(x+5)(x~7) / 7 /( g & ’}'3// ) Y, / )

. L a —— S

ID: 3245/ ;) / -/ =10
=Ll ~{ —

. _H____’—’_\_-________.._-———'— —J— _““—————-m.l.?;_!g:lj_"\_l\@
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18. a7 )
For the function FJ{of} =—
/ X /

domain and ranré;e and (c) usé the final graph to list aty verucql onzomal o(obllque asymptotes L

(a) Choose the corract graph below. NG b A

(a)/graph the rational function usmg transformations, {b} use the final graph to find the

(b) What is the domain of the given function? Select the correct choice below and, if necessary, fill in theaﬁswer box to~ :"L.. "~

complete ynur choice.

\ //t

‘\-_‘ LA- The domain of the given function is {x|x is a real number, x # (- ét s } ' bJ ?
“~_(Type an integer or a simplified fraction. Use a comma to separate answers as needed.) X —~ i~
. = e — e ,"lr

(0 B. The domain of the given function is {xlx is a real number, x> }

(Type an integer or a simplified fraction.)

2 €. The domain of the given function is {x|x is a real number, x < }

(Type an integer or a simplified fraction.)

() D. The domain of the given function is the set of all real numbers.

What is the range of the given function? Select the correct choice below and, if necessary, fill in the answer box to

complete your choice. /
.// L/J{) N
A. The range of the given function is {y|y is a real number, y # } ;/ 2. \
(Type an integer or a simplified fraction. Use a comma to separate answers as needeg’ )‘f \

B. The range of the given function is {yly is a real humber, y >
~ (Type an integer or a simplified fraction.)

L"c The range of the given function is {y|y is a real number, y < é/
_ (Type an integer or a simplified fraction.)

D. The range of the given function is the set of all real numbers.

complete your choice.

( C/A There is one vertical asymptote. It is /( e U
S— _(Type an equation. Use integers or fractions for any numbers.in the equahon )

B. The left vertical asymptote is . The right vertical asymptote is

(Type equations. Use integers or fractions for any numbers in the equations.)

C. There is no vertical asymptote.

What is/are the horizontal asymptote(s)? Select the correct choice below and, |f necessary filLin the answer box(es) to”

-('-/)/f A e

complete your choice.

A0

( "I A. There is one horizontal asymptote. It is

i
“o,
—

/) Wi
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(Type an equation. Use integers or fractions for any numbers in the equation.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

A. There is one oblique asymptote. It is :
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. The oblique asymptote with the positive slope is and the oblique asymptote
with the negative slope is .
(Type equations. Use integers or fractions for any numbers in the equations.)

CrC. Thereis no oblique asymptate. )

s ixats:n T

=20 20

-2
Answers B.

A. The domain of the given function is {x|x is a real number, x # 0 }

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

C. The range of the given function is {y|y is a real number, y < 4 }

(Type an integer or a simplified fraction.)

A. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)

A. There is one horizontal asymptote. It is y=4
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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.Y

19. Find tl'ge_ _ve_r_tical'.(lgorizont_a_l,,%d oblique asymptotes, if any, for the following rational function.

R = 10x A A )(,,f, / X’:,

x+18

Select the correct choice below and fill.in any answer boxes W|th|n your choice. X//f/ 5 / 6’ ’Q / f

K L/A The vertical asymptote(s) is/are x= / X ; _ // /i/ - ,,/ By
% (Use a comma to separate answers as needed ) - = 7'/ /
B. There is no verical asymptote. ( \/ ‘ (c Q S / /M/’/ J LA

Select the correct ch0|ce below and fill in any answer boxes within your ch0|ce

KL ﬂ The horizontal asymptote(s) is/are y = / C ) v N / O ,(
TN,

(Use a comma to separate answers as heeded.) = =

O B There is no horizontal asymptote. 7
Select the correct choice below and fill in any answer boxes within your choice. . e
a i / /
O A. The oblique asymptote(s) is/are y = . o / 5 L -
. (Usea coanito s_epirate answers as heeded.) = R / D
@;’_-B.—_There is no oblique asymptot-e.' ' (

— QurTEoad A 4 5 vl
Answers A. The vertical asymptote(s) is/are x = -18 .(Use a comma to separate answers as rieedéd.)
A. The horizontal asymptote(s) is/are y = 10 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45

//u, > he C/L/l/ ( 4;//“%/"
- __gﬂ V) A /Ziuvn =< G/(

//C« ¢ 1’0)9 il

(

N

L
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20. Forf(x)=2x+ 8 and g(x) = 5x, find the following composite functions and state the domain of each.

(8) fog  (b) gof () fof @) gog (rfu Jr%) - »UIO"

(a) (Fog)(x) = (Simplify your answer.) ~( J/" ) ) ’
I (= ( (~7 of )/
t 7 =

Select the correct choice below and fill in any answer boxes within yo’ur chorce

/{DU

~ _‘ - ‘/L./
) A. The domain of fo g is {x| 3 g_/e(,;( & . _ &
(Type an inequality. Use integers or fractions for any numbers in t xpression Usea
comma to separate answers as needed.) % ) f }/{ ) 2
A
(") B. The domain of fo g is all real numbers. K. 2 / s
I(Fe0)~ :
(b) (o H(X) = (Simplify your answer.) j (Z)(,,{; af) ]
Select the correct choice below and fill in any answer boxes within your chmce( >, d )
¢ (LA ’
O A Thedomalnofgofls{x| } /O O

(Type an inequality. Use integers or fractions for any numbers ln the e&présslﬁn_Use a
comma to separate answers as needed.)

() B. The domain of g o fis all real numbers. (" ¢ ?/ ) /) 8
(c) (fo f(x) = (Simplify your answer.) ( e )~
Select the correct choice below and fill in any answer boxes within your choice. ;“' ( Z)( /’f) ~

(O A. Thedomainoffofis{x| 3. 7 (2478 ) y
(Type an inequality. Use |ntegers or fractions for any numbers in the expressmn Use a

comma to separate answers as needed.) y ){ _/’/ C _7, d/
C ém-f 2 = -

(d) (@og)x) = (Simplify your answer.) _v\h‘_ 5

() B. The domain of fo fis all real numbers.

Select the correct choice below and fill in any answer boxes within your choice.

é' 04 )a) ol
() A. The domain of go g is {x| } B

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed. : : =
" ’ j/ ﬁ@<>><

() B. The domain of g o g is all real numbers.

Answers 10x + 8

B. The domain of f o g is all real numbers. 5 C
10x + 40 R \
of 7( P ——
B. The domain of g o fis all real numbers. / et
4x+24

B. The domain of f o f is all real numbers.
25x

B. The domain of g o g is all real numbers,

Dok 8/5/2019, 10:15 AM
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<,

_;:v/The function f(x) = 6x + 2 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f~ T 161
(c) Graph f, f~ 1 , and y = x on the same coordinate axes. 1?;
o
-1 8-
@f (= ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] X
, _ , 20 s 42 8 4 | 4 B 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice. ]
=8
) A. The domain is {x|x¢ } _12,:
) B. The domain is {x[x=< . 16
) €. The domain is {x|x2 b by

(O D. The domain is the set of all real

numbers. ,. /(;( / < b C

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice. . \) - 6 )(_/ /Z,,

) A. The range is {ylys } /}/»j (s ‘) @ Z

() B. The range is {ylyZ }

I [ X

(O D. The range is the set of all real numbers.

3 :07%8 A

(0 C. Therangeis {yly#

- » ; (2 «
Find the domain of f L . Select the correct choice below and, if )( Z/» )
necessary, fill in the answer box to complete your choice. '

() A. The domain is {XIX2 } I A/’J ‘ é\ry H\
—— G\

() B. The domain is {x|x# }- | 6 J ,
() €. The domain is {x|xs 3. | ‘
|
() D. The domain is the set of all real | L
numbers. ‘ X/ ¢
Find the range of f i Select the correct choice below and, if| é

necessary, fill in the answer box to complete your choice. |

}. |

L) B. Therangeis {yly?* }

) C. Therangeis {y|ys 3

D. The range is the set of all real numbers. /
(c) Graphf, f~ ! , and y = x on the same coordinate axes. Ls
the graphing tool to graph the functions. \\_\

A. The range is {y|y2

e - NN |

o X

]
] / X 2
o
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X—-2
6

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.
A |
D. The range is the set of all real numbers. (’-L‘ 3 f - L
oo
i 7

o

—IDr 4253
LA/ X

f
22. Solve the equation. X =3 2, 5 (_)

8™ x* 44 = 56% }-~.—)(,. R 9/(
—— ()7 =

The solution set is ;' _
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

Answer: 12 \ -3X L5 TX
2 -2
ID: 4.3.73 -3 gt B2 ¥ x
~ X /3-{,;__.4/5"&_ oX— [T ¢
—3% X = 7 =ifE 2 __
— X = FK—(TE—= FA
ol f ¥ E — Z2
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g

23. Solve the equation. ({"7 2 (/[_{ S-) S

log 5(8x+5)=5 K_ =

Change the given logarithmic equation to exponential form. 5/ Zj { V" (’ ws~ / ¢! £
2= X
(Type an equation. Do not simplify.) Z Z (, Cl = J» )('/ S,_,

The solution set is { } C)_ 2 J X~ 3 '

(Simplify your answer. Use a comma to separate answers as needed.) _ d _ —
B4 =§ =SEA3
Answers gy 4 5 =25 20 = 4=
27 7 %
18 2z - A
__?—-—“L ~ .é‘.i—-—

° 3 B

- 2,7,7<‘\\ _
> _ .

ID: 4.4.91-Setup & Solve 7
24. Find the amount that results from the given investment. ,4 ,\-/%//__7, 5) f“"- (q)ﬁf} ?:, 6 OU
¢ — 3
$600 invested at 9% compounded quarterly after a period of 4 years . C’ . _ ~ ‘j Y= o
A= oo ([T =
After 4 years, the investment results in $ ¢ /
(Round to the nearest cent as needed.) A, 500(/’?‘ 0 //,c/) t
Answer: 856.57 A £ (’ du ( ( o - d 9/(/) / (')

(/_4 275/60} 72/0}7((3 ,j

ID: 4.7.7 - /7 U S
o — — — e
25. How many years will it take for an initial investment of $20,000 to grow—to $70,000? Xss_ume_a rate of inierest of ?.36’
compounded continuously. s o
= y o
It will take about years for the investment to grow to $70 000 I;) /QC
| S—— » N : ,?
=000

(Round to two decimal places as needed.) /f
Answer: 17.90 L KA P ,07€ v/ %<.07
nswer: 17. 70 OUO - Z/U()OC) 6 .
7 / U7 € = @7
ID: 4.7.41 /0 0N o6 C Lo

70 00 g ) — =
B 7€ PGS Lahe

7.5 = ) At 6
/Z/Zd)” [)(( (79 J7 7
Lae) = are @l 17U 55y =
b (3.0~ I (/// 77

f
P4

/Z /3.5) 976/ 77,90 = z~

270f28

(

J

_ K KA -..--’(
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26. Solve the system of equations. If the s f?em has no solution, say that it is inconsistent. ; ('(
. /j.n,g 2X —~3%9 = 7 3¢k 3¢
x —3y=-
Y oK'+ 2 < B 5T 3o
10x+y =13 = o ey
3K T 0 = 3 L (’ b,
vx

Select the correct choice below and, if necessary, fill in any answer boxes within your ch0|c

f
() A. The solution of the system is x = andy= . Z)( % 7 /
(Type an integers or simplified fractions.) 7

(O B. There are infinitely many solutions. Using ordered pairs, the solution can be writtgn (asr - ’t) 7
{(X.V)IX= , ¥y any real number}. 2. — 5 7 . 7/
(Simplify your answer. Type an expression using y as the variable as needed.) ?__;-' 2 2 . 7 2
() €. The system is inconsistent. ¢ ; ,/ _
3 Y K
Answer: A. The solution of the system is x = 1 andy= 3 ; —~ 'j'-_j i
(Type an integers or simplified fractions.) B ') 3

ID: 6.1.33

e — =

27. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

x—-2y+3z= 9
2x+ y+ z=-2

-3x+2y-2z=-2

Select the correct choice below and fill in any answer boxes within your choice.

() A. The solution is x = VY= ,and z= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= e , z any real number}.
(Simplify your answers. Type expressions usmg z as the variable as needed. )

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2)|x= , yany real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.

The solution is x = -2 VY= .andz= 3 | (Typeintegers or simplified
fractions.)

) /Wc//r - .4) ~(%1/r )«(C/

ID: 6.1.45 //4 = I -ﬂ'z/ /

Z /

-3 2

A A/ /;M&"V/i/
V rer ([

28 of@ [
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